Efficiency vs P,

+0.05 T T
2 : : :
L0045 -----enriereeee e SRR

> E : : T:
2 0.04F----rerrmirrrnee R & AEREEEEETIRE
9] E : : :
@.035:—----------? """"""" Beneeees B SRR EEEEE
o E : : :
0.03:—----------§ ------------ L EEEERE ef e
0025;— ------------ ------- ------------
0.02;— ---------- ---------- ------------
0.015F - * ------ 01 N S S
001 -] + 01 T
0.005;—---- *“ + ----- ------------
AF bl
o =W
g X
@ B
1_— ----- EeY B O

o
©
a

=
o
iN

1 10 . Gedf’

—s=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO

—— DQM_V0001_R000000001__Global__mkFitOLD-checkDet__RECO

0.95

=0.05F . .
g E : :
§.045:—------—-------~: -------- Jroereerie e
2 E : :
0_,0.04:—------r-------~: -------- Jroeee i
[S] - . .
FD.035F -+ eee e
@ F : :
0.03F -5 m 4o RIS P
0.025F-+++++beeerpipefoons A
0.02F -+t (0 (RS | N SN SR
0.015F -+ T PO Y SO
0015_ """ e id "-E- L SRR
E [ o
0.005F------- FT-Fof : e
o L_\'Qf....l....|....!....|....|....
T :
o L i
| SEERREEE H : L.
3 -2 -1 0 1 2 3

Efficiency vs ¢

£0.05
0
2.045
2
$0.04
(5]
$.035
(9]

0.03

Fy
iy

.............................................

L RN B PR RN LR

TP @



	Contents
	Page 1


